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QUESTION 1

All of the following statements are true regarding long bones EXCEPT 

A. Thediaphysis is composed of compact bone. 

B. The epiphysis consists of spongy bone. 

C. Most bones of the axial skeleton are of this type. 

D. The central shaft encases themedullary canal. 

Correct Answer: C 

 

QUESTION 2

Budgets are designed to 

A. Make management happy. 

B. Determine if a program is viable. 

C. Save money. 

D. Teach managers about cost analysis. 

Correct Answer: B 

 

QUESTION 3

A 110-pound female pedals a Monark cycle ergometer at 50 rpm against a resistance of 2.5 kiloponds. Calculate her
absolute Yo2. 

A. 300mL . min-1 

B. 750mL . min-1 

C. 1.25L . min-1 

D. 1.7 L. min-1 

Correct Answer: D 

 

QUESTION 4

Which of the following is NOT a muscle type? 

A. Skeletal. 
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B. Smooth. 

C. Cardiac. 

D. Generic. 

Correct Answer: D 

 

QUESTION 5

A patient who exhibits tachycardia, diaphoresis, light-headedness, and visual disturbances may be experiencing 

A. Hypoglycemia. 

B. Congestive heart failure. 

C. Hyperglycemia. 

D. Hypotension. 

Correct Answer: A 
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